C:# Bilanciamento delle equazioni Nome:

Determinail valore delle variabili. Risposte
1) 41+L=5x9 2) 6x2=5+]
1.
2.
3.
4.
3) 64-Z=14+25 4 K-7=3x7
5.
6.
7.
8.
5 8x5=44-Y 6) 3x5=M-8
9.
10.
7) 10+37=Y +46 8 J-14=35+22
9 Mx4=8x3 10) Y -18=23+ 33
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C:# Bilanciamento delle equazioni Nome: Soluzioni

Determinail valore delle variabili. Risposte
1) 41+L=5x9 2) 6x2=5+]
1 4
> 7
3 25
4 28
3 64-Z2=14+25 4 K-7=3x7
5 4
6 23
7 1
8. 71
5 8x5=44-Y 6) 3x5=M-8
9 6
10. 74
7) 10+37=Y +46 8 J-14=35+22
9 Mx4=8x3 10) Y-18=23+33
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